®opma Ne 3 KOHTPOJIbHOIO 3AMEPA 11O [IC CYM3-5§ Jlara 17.06.2020r,
1 uac 2 yac J yac 4 uac
[losomenue | MocTosinsie = N ; == =
astand Hotepi Tok | EakT |*peak| Tok | +akT [+peak| Tok | ®akr [+peak| Tok | +akr |+ peax
Amit | MBt IMBAp| Awn | MBr [MBAp| Asu | MBr MBAp| Amn | MBt [MBAp
110 xB APxx 0,039
No | AQxx 0.2
15 6 kB 4.2
MBA PITH
110 APxx  0.033
Ne 2 AQxx 0,174
o 15 6 kB 34,32
s [ MBA PITH
g_ APxx
3 8_ Na AQxx
ol
:?2 5 MBA PLIH
= | = APxx
o
§ No AQxxX
E
5 MBA PIIH
s 110 kB
Z Hroro:
3 6 kB 0 0.00 | 0.00 0 0.00 | 0.00 0 0.00 | 0.00 0 0,00 | 0.00
g Hasnanie JIDTT u disiepos TOK | £akT |£peakf Tok | *akr |+peak| Tox | takr |+ peak| Tok | #akT |+ peak
2 ) Avin | MBr IMBAp| Awin | MBr [MBAp] Avi | MBr MBAp| Awn | MBr [MBAp
S 1C-6 kB
Z 11C Jlpo6un.ovaen. T-1 4.4 0.000 0.000 0.000 0.000
g ’g [1C Crycrur.ornen.T-1 4.6 10 0.02 5 0.01 10 0.02 10 0,02
E ; 1C ®unerpos.oti. T-1 4.7 30 10,052 25 1 0.043 23 0.043 25 10,043
g | & {0 Mbnokacocnansl | o 5| 0.06 5| 006 5| 006 5| 006
2 & |noavema sB. 1
# | 5 [ICpos.ornen -1 54.10 45 10498 15 ] 0.166 15 10.166 40 ] 0443
g % [C CYM3 IC A4.13 495 | 5.48] 450 | 4,982 450 | 4.982 480 | 5.315
§ E T1C Tenask 8a. 1 a4, 15 10 0.11 10 0.11 10 0.11 10 0.11
| ' [1C Pearewriorien T-1 | sy 16 5 0.033 35 0.053 3 0.053 5 0.055
g | £fncurnic PERE 230 | 233 25 | 249 a0 o 225 | 249
(% é’ [C I[PT12C 54,18 160 1.77 160 1.77 160 1.77 160 1.77
5* é Hroro 1C 495 | 10,59 450 9,68 450) 9,64 480 | 10,30
g2 |< 2C-6 kB
2 | [1IC Punprpos.oti T-2 | 433 10 |0l 15 | 0.166 15 _]0.166 15| o166
E < |1C Jlpobun.ornen T-2 | sy.34 5 0.055 5 0.055 3 0.055 S 0.055
g ; 11C Tenask ss.2 A4,35 0.00 0.00 0.00 0.00
£ | B [SKHO Nug 24.36 5 0,06 5 0.06 3 0.06 5 0,06
3| 2c [ynbnonacoctas-1
4 o f4,37 15 0.17 13 0.17 15 017 |5 0.17
5 | T [uoivema BB.2
g = [UC Crycrur.ornen T-2 | au.38 10 | 011 5 0.06 3 0.06 10| o1
5 ; 11C CYM32C 54,39 450 4.98 410 4.54 410 4.54 450 1.98
2| & |1IC Peareuth.ovien. T-2 | 9u.42 0.00 0.00 0.00 0.00
é NC LPIT 3C s4.45 200 2.21 200 2.2 200 221 190 2.10
& 1C 11P114C A4.46 200 2.21 160 1,717 160 1.77 203 227
% HC Jlpobunotnea. T-2 | au.48 5 0.053 5 0.053 5 0.055 3 0,055
= Hroro 2C 450 | 9,96 410 | 9,08 410 | 9,08 450 | 9,96
B Harpyska CK, MBAp No
FE: barapes CK, MBAp No
g Hanpsixetue L
3
3 Ha 1 HAX
z 6 kB 6.4 0.1 X 6l
z Ne | | [ | |
= Ne2 | | | ]
Cos @ o
Ne
Nepestennie noTepH & A Puep + A JQuep 0.000 # 0.000 ] 0.000 +] 0.000 | 0.000 +] 0.000 | 0.000 + | 0.000
o A Puep + A jQuep 0 + 0 0 + 0 0 + 0 0 +7) 0
Tpaxcdopmaropax. TN . = = ~ )
MB/\ nep ] JHep Al il il + |
A Puep + A jQuep + ] v v +
Ux% | APxs, MBr SxeTt 0.4 +y 020§ 004+ 020 [ 00d T 020 | 004 +j 020
T-1] 1021 0,11266 2 0.00 + ) 0.00 | 0.00 +) 0.00 ] 0.00 i 0.00 1 0.00 + 0.00
T-2] 114 0.126 + ) + e # 9
+ ] + + +
0,04 + i 0,20 | 0,04 + j 0,20 | 0,04 +j 0,20 | 0,04 +j 0,20
3amep npose:
[TPUMEYAHHUE: + HALPABICHIC NOTOKA K UNHav /et

- HAPABICHHC HOTOKA OT Uiu n/cr

I iLonepreruk

O.A.bopsyuon



S wac 6 wac 7 1ac 8 uac 9 wac 10 vac 11 uac
Tok | *akT [£peak| Tok | xakr |+ peak| rok | takr |+ peak] Tok | Eakr |+ peak| Tok [ £ aKkrT |+ peak| Tok | takr |+ peak| Tok | +aKr | £ peak
Amn | MBt |[MBAp] Avin | MBt |MBAp] Avii | MBr MBAp] Awn | MBr [MBAp| Avii | MBr [MBAp| Aun | MBr MBAp| Amu | MBr |MBAp
0 0,00 [ 0.00 0 0.00 | 0,00 0 0.00 | 0,00 0 0.00 | 0.00 0 0.00 | 0.0 0 0,00 | 0.00 0 0,00 | 0.00
TOk | £aKT [£peak| Tok | £akT |+ peak| ok | +akt |+ peak| Tok | +akr |+ peak)l ToK | Eakr | £peak| Tok | #akT [+ peak| ok | #akT |+ peak
Amn_| MBr [MBAp| Awu | MBt [MBAp| Awn | MBr MBAp| Awi | MBT [MBAp| Avin | MBr [MBAp| Awn | MBr MBAp| Awn | MBr [MBAp
0,000 0,000 0,000 0.000 0.000 0.000 0.000
10 0,02 10 0,02 10 0.02 5 0.01 3 0.01 3 0.01 5 0.01
20 10,035 15 10.026 15 10.026 15 10.026 15 10.026 15 10.026 15 10026
5 0.06 5 0.06 10 011 3 0.06 5 0.06 5 0.06 5 0.06
40 0443 35 0,388 35 0388 3 0033 30 0.332 33 0.388 40 0.443
475 | 5,259 470 [ 5.204 480 | 5313 440 | 4872 4700 | 3204 4700 | 5.204 480 | 5315
10 0.1 10 0.11 10 0.11 |5 0.17 10 011 10 0.11 15 0.17
5 0.055 5 0.055 5 00335 3 0.053 5 0.055 & 0.055 5 0,055
225 | 249 230 | 2.55 230 | 235 230 | 2.55 230 | 255 230 | 233 230 | 233
160 | 1,77 160 | 1.77 165 | 1.83 160 | 1.77 170 | 1.88 165 1.83 165 | 1.83
475 10,24 470 | 10,17 480 ] 10,40 440 | 9,56 470 | 10,22 470 [ 10,22 480 | 10,44
10 0,111 10 0,111 10 0111 10 0111 10 0111 10 NN 10 0.111
5 0,055 8 0,055 5 0.055 3 0.055 5 0.055 5 0.053 5 0.053
0.00 0.00 0.00 0.00 0.00 0.00 0.00
3 0,06 5 0.06 5 0.06 5 0.06 5 006 {2 0.17 13 0.17
20 0.22 25 0.28 15 0.17 25 0.28 15 0.17 I3 0.17 5 0.17
5 0.06 10 0.11 10 0.1 3 0.06 5 0.06 3 0.06 3 0,06
450 4,98 458 5,04 460 5.09 415 4.59 460 5.09 470 3.20 470 5.20
0.00 0,00 0.00 0.00 0.00 0.00 0.00
200 2.21 195 2.16 210 2.33 200 2.2 1935 2.16 200 221 200 22|
200 2.21 200 2.21 200 231 160 .77 220 2.4 215 2.38 215 2.38
5 0.055 3 0.055 5 0.055 5 0.055 5 0.053 3 0.055 5 0.053
450 9,96 455 | 10,08 460 ] 10,19 415 9,19 460 | 10,19 470 10,41 470 | 10,41
6.4 6.4 6.4 6.4 6.} 6.4 6.4
1 | | | | | |
| 1 | | ] | 1
0.000  +j 0,000 0,000 + 0.000 | 0,000 + | 0.000 | 0.000 + 0.000 | 0.000 * [ 0.000 | 0.000 +j 0.000 1 0.000  + 0.000
0 +j 0 0 1 0 0 v 0 0 ) 4] 0 + 0 0 t ) 0 0 + ) 0
| all =] t) il ) |
+ ] + + | 7 1 ]

0,04 + ) 0.20 | 0.04 +) 0.20 | 0.04 + ) 0.20 | 0.04 + | 0.20 | 0,04 % 0.20 | 0.04 + 0.20 | 0,04 + 0.20
000 +j 000]000 +3 000|000 +; 000000 FJ) 0001000 +) 000000  +j  000]000 <+ 000
+] + ] +] + ] + ) +j o |
) 3] | g2 i ] gl
0,04 i | 0,20 | 0,04 +j 0,20 | 0,04 + 0,20 1 0,04 + j 0,20 | 0,04 + j 0,20 | 0,04 + j 0,20 | 0,04 + j 0,20




12 yac 13 yac 14 qac 15 yac 16 yac 17 uac 18 uac

Tok | aKT [£peak| Tok | *aky [+ peak| Tok | +akr xpeakl Tok | *akr |+ peak| Tok | +akT tpeak| TOK | akr [£peak| TOok | +akr + peak
Amn | MBt |MBAp| Awn | MBr MBAp| Amn | MBr {MBAp] Avn | MBy MBAp] Amu | MBt [MBApl Asn | MBr [MBAp| Asn | MBr MBAp

0 0.00 | 0.00 0 0,00 | 0.00 0 0.00 | 0,00 0 0.00 | 0.00 0 0.00 | 0.00 0 0.00 | 0,00 0 0.00 [ 0.00
TOK | £aKkT [£peak] Tok | +akr [+peak| Tox | £akt |+ peak| TOk | *aKkT |+ peak| TOK | £aKT |+ peak| Tok | +akT |+ peak] Tok | *akr |* peak
Avn | MBr IMBAp| Awn | MBr [MBAp| Aun | MBr MBAp| Avn | MBr |MBAp] Amn | MBy MBAp| Awn_ | MBr IMBAp| Amn | MBr |MBAp

0,000 0.000 0.000 0.000 0.000 0.000 0,000
5 0,01 3 0,01 3 0.01 5 0.01 3 0.01 5 0,01 5 0.01
15 10,026 10 | 0,017 10 ] 0,017 10 ] 0.017 10 10.017 15 | 0.026 15 ] 0.026
5 0.06 5 0.06 3 0.06 5 0.06 5 0.06 3 0.06 3 0.06
30 {0,332 5 0,055 5 0.055 30 | 0332 30 0332 401 0.443 40 | 0443
470 | 5204 450 | 4,982 440 | 4.872 470 | 5.204 480 | 5.315 470 | 5204 470 | 5.204
15 0,17 20 0.22 20 0.22 10 0.11 10 0.11 5 0.06 10 0,11
5 0,055 5 0,055 5 0.055 5 0.035 5 0.055 5 0.055 5 0.055
230 | 2.55 230 | 2,55 230 | 2.55 235 | 2.60 235 | 2.60 225 | 249 225 | 249
165 1,83 170 1.88 160 1.77 170 1.88 180 1.99 170 1.88 165 1.83
470 | 10,22 450 | 9,82 440 | 9,60 470 | 10,27 480 | 10,49 470 | 10,22 470 | 10,22 j
10 | 0.111 10 10111 10 | o 10 o 10 [ 0111 10 | 0111 10 10011
5 0,055 S 0.058 5 0.055 s 0055 3 0.033 ) 0.035 5 0.055
0,00 0.00 0.00 0.00 0.00 (.00 0.00
5 0.06 5 0.06 10 011 5 0.06 10 0.1 & 0.06 5 0.06
15 0,17 20 0,22 20 0.22 20 0.22 20 0.22 13 0.17 30 0.33
5 0.06 5 0.06 5 0.06 5 0.06 5 0.06 5 0.06 5 0,06
430 4,76 400 4,43 430 4.76 470 5.20 470 5.20 450 498 470 5,20
0,00 0,00 0.00 0,00 0,00 0.00 0,00
190 | 2,10 200 | 221 200 | 221 200 | 221 200 | 221 200 | 2.21 200 | 221
195 | 2.16 150 1,66 175 1.94 220 | 2.44 215 | 23 205 | 2.27 210 | 233
5 0,055 5 0,055 510053 5 0.055 S 0.033 3 0.055 5 0.033
430 | 9,52 400 | 8,86 430 | 9,52 470 | 10,41 470 | 10,41 450 | 9,96 470 | 10,41 —l
6.4 6.4 64 6.4 6.4 6.4 6.4
| I | | | | |
] | 1 | | | |
0000 +j 0000f0000 ~+j 0000]0000 - ) 000000000 - 00000000 +, 0000|0000 - S vonofonoo 4y 0.000
0 +j 0 0 +j 0 0 - 0 0 + ) 0 0 | 0 0 + ) 0 0 + ] 0
+i + * M *) *+] t)
+J‘ + + ] + +J‘ + ) +

0,04 + 020 | 0,04 + 0,20 | 0.04 + 0,20 1 0.04 + | 0.20 | 0.04 + 0.20 | 0.04 + 0,20 | 0,04 +J 0,20
0,00 +) 0,00 | 0.00 +] 0,00 0.00 + ] 0,00 | 0,00 + 0,00 | 0.00 + ] 0.00 | 0.00 + ) 0.00 | 0,00 +j 0,00
ull *] + +J + +i +
+ + +) + | + + +j
0,04 + 0,20 | 0,04 + j 0,20 0,04 + j 0,20 } 0,04 + j 0,20 | 0,04 + j 0,20 | 0,04 + j 0,20 | 0,04 + j 0,20




19 yac 20 yac 21 gac 22 yac 23 yac 24 uac
Tok | Eakr | peak| Tok | #akr |&peak| rtox | tawr |+peak| Tox | *akr |+ peak| Tok ] = awr |+ peak| Tok | axr |+ peak
Amn | MBr [MBAp| Aun | MBr |MBAp| Auu | MBr MBAp} Amit | MBr |[MBAp] Avn | MBy MBAp| Axin | MBrt [MBAp

0 0.00 | 0,00 0 0,00 | 0,00 0 0.00 | 0.00 0 0.00 | 0.00 0 0.00 | 0,00 0 0.00 | 0.00
TOK | aKkT [+peak] Tok | +akT |+ peak|] TOk LAkt [ peak] Tok | +akr |+ peak| Tok | takr |+ pear] Tok | & akr |+ peak
Awn | MBT [MBAp] Avin | MBt [MBAp| Avin | MBr MBAp| Avn | MBr [MBAp| Awa | MBr MBAp| Avn | MB1 |[MBAp

0,000 0.000 0,000 0.000 0.000 0.000

5 0.01 5 0.01 3 0.01 5 0.01 5 0.01 S 001
15 0.026 100,017 |5 0.026 10 10.017 10 10,017 3 0.009
5 0.06 5 0.06 5 0.06 3 0.06 5 0.06 3 0.06
40 ] 0,443 5 0,055 2B .27 20 ] 0.221 40 0.443 43 0.498
470 | 5.204 440 | 4.872 440 | 4.872 440 | 4872 470 | 5.204 470 | 5.204
5 0,06 10 0.11 3 0.06 5 0.06 5 0.06 10 0.11
5 0,055 5 0,055 5 0,055 S 0.055 5 0.055 5 0.055
225 249 230 | 255 220 | 244 230 | 2.55 230 | 255 225 2,49
170 1.88 170 1.88 160 1.77 160 1.77 170 1.88 170 1.88
470 | 10,22 440 | 9,60 440 | 9,56 440 9.60 470 | 10,27 470 | 1031
10 0111 10 [ 0,111 10 [ 0111 10 10111 10 10111 10 0011
5 0,055 5 0,055 S 0.055 3 0.055 3 0.033 Al 0.055
0.00 0.00 0.00 0.00 0.00 0.00

10 0.11 5 0,06 5 0.06 10 0.11 5 0.06 3 0,06
20 0.22 20 0.22 10 0.11 20 0.22 25 0.28 20 0322
5 0.06 5 0.06 5 0.06 5 0.06 k. 0.06 > 0.06
430 4.76 400 4.43 460 3.09 470 5.20 470 3.20 460 5.09
0.00 0.00 0.00 0.00 0.00 0.00

195 2.16 190 | 2.10 200 2.2] 200 ] 221 200 2.21 200 221
180 1.99 160 1.77 220 2.0 215 238 213 238 210 233
3 0.055 5 0,055 5 V.08 3 0.035 5 0.033 R 0.033
430 | 9,52 400 | 8,86 460 | 10,19 470 | 10,41 470 | 10,41 460 | 10,19

6.4 6.4 6.4 6.4 6.4 6.4

1 | | | | |
| | | | | |

0000 +j 0000]0000 +j 0000f0000 +; 0.000] 0000 +1 00000000 +; 00000000 +; 0000

0 +j 0 0 + 0 0 " 0 0 +j 0 0 + ] 0 0 +] 0

+ ] + ] + | # + + ]
+ + »j + + 4 7

0,04 *] 0.20 0.04 + ) 0.20 0.04 il 0.20 0.04 i | 0.20 0.04 + 0.20 0.04 + 0.20

0.00 + 0,00 0.00 + 0.00 0.00 * 0.00 0.00 + | 0.00 0.00 + ] 0.00 0.00 ] 0.00
sl i | ! b | -l
.8 2l J ! I vl

0,04 + j 0,20 0,04 + j 0,20 (.04 r 0,20 0,04 4 0.20 0.04 + 0,20 0,04 ' 0,20




